
Rally Coach

Partner A solves the first problem verbally

Partner B watches, listens, checks and coaches if necessary praises – when answer is agreed A writes it down

Partner B solves the next problem verbally
Partner A watches, listens, checks and coaches if necessary praises – when answer is agreed B writes it down

Repeat the process until all tasks are complete

1. Louis Philippe’s regime was doomed from the start. Do you agree? Support your answer with reasons and/or examples
2. The fall of Louis Philippe was an avoidable accident. Do you agree? Support your answer with reasons and/or examples
3. Louis Philippe made crucial mistakes 1847-8 which sealed his fate. Do you agree? Support your answer with reasons and/or examples

4. Louis Philippe’s fall was due to an emerging class struggle between workers and owners. Do you agree? Support your answer with reasons and/or examples

5. Louis Philippe fell from power because of the power of socialist ideas. Do you agree? Support your answer with reasons and/or examples

6. Louis Philippe fell because of his ‘timid’ foreign policy. Do you agree? Support your answer with reasons and/or examples

7. Louis Philippe fell because he failed to give more people the vote. Do you agree? Support your answer with reasons and/or examples
